= JIANGSU JOY METAL PRODUCTS CO. LTD.
9y

hvr 3
K

(—)EE INTRODUCTION —

£ 4 8- a0bnm
RANGE

Light series clamgs can be suppbied in & seres for aormal mechanecal

eries, clamps can be supplied in 10 &
2., 810 404n

high mechanical stre-

4, BERTEHY

MATERIAL PROPERTIES <
. RECOMMENDED DISTANCES FOR IN:

0506 o/ 265 /an
Tl o bie o
Snio 120N it
500 oo’ | AR
25 1 0908/ e/
3150 a oty

ot

i ; 184 Other materiaig on fequlst

3 ORDER CODE
ek 31— 320

o be supported by the

When i el 3
i d ssible an each side of the bend




= JIANGSU JOY METAL PRODUCTS CO.,LTD.
Gy

5. &EEciRE8 IR EE DERE EaVHIERE D
BARER L . & _FHVBEIEES D AR FEDIN 3015 5510

SR, BB REESE, BRI RE,
EIRLIEER, B EERAG LTS, K BEEET. BN
R AR E, FRRETAE,

B B BRI B I,

RESU -

SOOSERNL, RERIERE, HEESNBSEANA,
HIEDE, BT ERARAES, ABEENET, BIL
SRR, RETERE,

BREE

SHNONSTERGY L, EETERE, SO L R ESEA, RE s =
BECNES, BNL LT ERA, FRERE, BB ERARIUILIFOI 3015 FLEY)
LT, HETEE T EE, HARL, B Ehs

BE—TYIPE, ERE3Rah
EiBHFEN. HHNNA—REER
DIN 2448 & st37 SIHE, RBEN 23°C,
B CEER,

BB FOVE E2E— 7O
AT, BRANESASEL.

Ry | BEA

ASSEMBLY INSTRUCTIQN z3) GB%E—% ERerE | B3 | erEs E?%%
Assembly on to metal welding plates JI56(NmYy | JIF(KN) | FD%E(Nm) | JIF(KN)
Weld metal welding plates on to a weight adjusted base.
Clip lower half of clamp on to welding plate and insert tube; then add 0 8 0.6 10 0.6
second clamp-half and tighten with screws provided. 1 g 11 10 07
DO NOT weld with plastic clamp in position|

2 8 1.3 10 0.8

Assembly on rail-supports

Rail-supports can 3 M6 8 14 10 1.6
be welded of screwed on with a fastening bracket. Insert rail nuts

. . e o J 1 e
into rail and turn as far as it will go.(Ensure that spacing is right). 4 B o . d

Wedge on lower clamp-half, insert tube, add second clamp-half and 5 8 19 10 2.0
tighten with screws provided.

) 6 8 2.0 10 25
Construction assembly
Weld on welding plate or rail support, or screw on with a fixing R i s 0
: BAUFRTIZIEDIN 3015 5E28340)
bracket. Wedge on lower clamp-half, insert tube, add upper clamp-half
and tighten with fixing screws.(Fixing screw to jut out.) Ry |BER E={PN i =7 i
By applying a locking plate to the upper half of the clamp, the:fixing 75 | (B84 IR BT 1215 26 B S s e B S
screw is prevented from twisting. Then mount the second tube clamp GB5782-86) JF74bE(Nm)| JOF(KN) | ZIFRMNm)| JIF(KN) | TORE(Nm)| FIF(KN)
in exactly the same way. " 13 L6 20 a2 30 121
%\ge,ﬂ%@d 2z M10 12 29 20 45 30 15.1
3 15 33 25 5.1 35 155
4 M12 30 8.2 40 93 55 294
5 M16 45 11.0 55 21.0 120 349
6 M20 80 14.0 150 25.8 220 50.0
7 M24 110 28.0 200 32.0 250 70.6
8 180 40.0 350 48.0 500 84.5
9 M30 500 1815
10 600 2445
WX R DIZIRDIN 3015 B350
N B 2126
7 | | eese | B3R | BREE | B3R
JIFBINm) | JIF(KN) | JIFE(Nm) | TIF(KN)
1 M6 5 0.9 5 0.9
2 12 2.1 12 22
o _ 3 12 1.9 12 2.0
THEEN, VARTSENATAGEMRREEXRETE. B M8
B SRR NEERTE . 12 i 3% 29

5 8 17 8 2.5




Gy

(C)EE-SZ4#E ASSEMBLY AND COMPONENTS

(AT GRS fe B DIN301S Teill)

JIANGSU JOY METAL PRODUCTS CO.LTD.

1JBHAVS Order code EBRER, 125 F’J%r&mh. mﬁ BSREEMIG, 12 a& mﬁﬁm&m E?EiEﬁ?b&ﬁ%H&@E
TLPG—IE BUBARI B Je A 3 (g Y BE, HFEET | OF, AA7SRR @m, FRYMT SRR Hi& | BeEE, M
Light series, polypropylene, %@gﬂﬂﬂ—ﬁ‘%:ﬂm £IN I*E@Ir%%‘“ﬁ?( BEREEE® @ﬁ%ﬂ@%ﬂmi@@ @ﬂ?ﬂmﬁ- 1";—&
inside grooved 2 clamp halves, 2 clamp halves, EEBR, Bk,
TLPS—AZ FUYBIR| B S PO 336 2 clamp halves, weld plate-short, weld plate-short, 2 clamp halves, 2 clamp halves,
Light series, polypropylene, weld plate-short, socket head screws |cover plate and he | weld / screw plate, | weld / screw plate,
inside smooth slot head screws and washers head bolts slot head screws socket head screws
TING—ER B 10/ M R 31 [V e Y and washers and washers and washers
Light series, polyamide 6,
inside grooved
TINS—E2 T E F 3L AR
Light series, polyamide 6,
inside smooth @
(EEER, BEE TERe" 0 © ® = s e ° ®
TP RS “TLpG" HOA) Ce & = . o
(As required, exchange standard ab- < . & o w
breviation “TLPG” in column of . ‘ V”) [)) VIJJ v”J
“order code” )
rozsl| e |moes|meae| &~
Comp size | mm 0. | inchID. | inch 0.0 TerpES RS JERS TERS TJRRS
Crder code Order code Order code Order code Order code
6 TLPG1-006 TLPG2-006 TLPG3-006 TLPGA4-006 TLPGS-006
6.4 V4 TLPG1-006.4 TLPG2-006.4 TLPG3-006.4 TLPGA-006.4 TLPG5-006.4
0 8 5/16 TLPG1-008 TLPG2-008 TLPG3-008 TLPG4-008 TLPG5-008
9.5 G1/8 3/8 TLPG1-009.5 TLPG2-009.5 TLPG3-009.5 TLPG4-009.5 TLPG5-009.5
10 TLPG1-010 TLPG2-010 TLPG3-010 TLPG4-010 TLPG5-010
12 TLPG1-012 TLPG2-012 TLRG3-012 TLPG4-012 TLPG5-012
6 TLPG1-106 TLPG2-106 TLPG3-106 TLPGA-106 TLPG5-106
6.4 /4 TLPG1-106.4 TLPGZ-106.4 TLPG3-106.4 TLPG4-106.4 TLPG5-106.4
1 8 5/16 TLPG1-108 TLPG2:108 TLPG3-108 TLPG4-108 TLPG5-108
9.5 G1/8 3/8 TLPG1-109.5 TLPG2-109.5 TLPG3-109.5 TLPG4-109.5 TLPG5-109.5
10 TLPG1-110 TLPG2-110 TLPG3-110 TLPGA4-110 TLPGS-110
12 TLPG1-112 TLPG2-112 TLPG3-112 TLPG4-112 TLPG5-112
12.7 1/2 TLPG1-212.7 TLPG2-212.7 TLPG3-212.7 TLPG4-212.7 1LPG5-212.7
135 G1/4 TLPG1-213.5 TLPG2-213.5 TLPG3-213.5 TLPG4-213.5 TLPG5-213.5
14 TLPG1-214 TLPG2-214 TLPG3-214 TLPGA4-214 TLPG5-214
2 15 TLPG1-215 TLPG2-215 TLPG3-215 TLPG4-215 TLPG5-215
16 5/8 TLPG1-216 TLPG2-216 TLPG3-216 TLPGA-216 TLPGS-216
17:2 G3/8 TLPG1-217.2 TLPG2-217.2 TLPG3-217.2 TLPGA-217.2 TLPG5-217.2
18 TLPG1-218 TLPG2-218 TLPG3-218 TLPG4-218 TLPG5-218
19 ¥a TLPGL-319 TLPG2-319 TLPG3-319 TLPG4-319 TLPG5-319
20 TLPG1-320 TLPG2-320 TLPG3-320 TLPG4-320 TLPG5-320
3 21.3 G1/2 TLPG1-321.3 TLPG2-3213 TLPG3-321.3 TLPG4-321.3 TLPG5-321.3
22 TLPG1-322 TLPG2-322 TLPG3-322 TLPGA-322 TLPG5-322
2! TLPG1-323 TLPG2-323 TLPG3-323 TLPG4-323 TLPGS-323
25 1 TLPG1-325 TLPG2-325 TLPG3-325 TLPG4-325 TLPG5-325
26.9 G3/4 TLPG1-426.9 TLPG2-426.9 TLPG3-426.9 TLPGA-426.9 TLPG5-426.9
4 28 TLPG1-428 TLPG2-428 TLPG3-428 TLPGA4-428 TLPGS5-428
30 TLPG1-430 TLPG2-430 TLPG3-430 TLPG4-430 TLPGS5-430
32 14 TLPG1-532 TLPG2-532 TLPG3-532 TLPG4-532 TLPGS5-532
337 Gl TLPG1-533.7 TLPG2-533.7 TLPG3-533.7 TLPGA-533.7 TLPG5-533.7
35 TLPG1-535 TLPG2-535 TLPG3-535 TLPGA-535 TLPG5-535
> 38 112 TLPG1-538 TLPG2-538 TLPG3-538 TLPG4-538 TLPGS-538
40 TLPG1-540 TLPG2-540 TLPG3-540 TLPG4-540 TLPG5-540
42 G1Y/a TLPG1-542 TLPG2-542 TLPG3-542 TLPGA-542 TLPG5-542
445 134 TLPG1-644.5 TLPG2-644.5 TLPG3-644.5 TLPG4-644.5 TLPG5-644.5
45 TLPG1-645 TLPG2-645 TLPG3-645 TLPGA-645 TLPG5-645
48 Gll/2 TLPG1-648 TLPG2-648 TLPG3-648 TLPGA-648 TLPG5-648
6 50 TLPG1-650 TLPG2-650 TLPG3-650 TLPGA-650 TLPGS-650
50.8 2 TLPG1-650.8 TLPG2-650.8 TLPG3-650.8 TLPGA4-650.8 TLPG5-650.8
52 TLPGL-652 TLPG2-652 TLPG3-652 TLPGA-652 TLPG5-652
55 TLPG1-655 TLPG2-655 TLPG3-655 TLPGA-655 TLPG5-655
57 24 TLPG1-657 TLPG2-657 TLPG3-657 TLPGA-657 TLPGS-657

NEERABEIRT, FTEO8ELTET If different combinations are required, they could be ordered as separate components.



]

JIANGSU JOY METAL PRODUCTS CO.LTD.

(A F=REEEEVE DIN3015 Teill)

IJHHEES Order code SR SRR | SRR | SRAEASARET | BREIN AR
TLPG— ISR B S p 1 (VIR Y BE %%ﬁf@ﬁﬁ ORERESRS | RAENSNERESR | ERINSTESEER
Light series, polypropyleneinside grooved ﬁ%}f&f—ﬁ'}”fé% EEEENL) tza=1 ) FESYLD)
TLPS— I HUBBN B 3R gcr%i:m&iwiiv:;ew 2 clamp halves, rail nuts,| 2 clamp halves, rail nuts,| 2 clamp halves, rail
Light series, polypropyleneinside smooth plate a?]d hex. head slot head screws and socket headscrews and | nuts, cover plate and
TING— RSP ES stz po 3| [ Ay bolts washers washers hex head bolts
Light series, polyamide 6,inside grooved
TINS— B RIERERRILNE
Light series, polyamide 6,inside smooth E U
(IRIBER, BER TJEAS" PORERS
“TLPG” #1A) ﬁ W
(As required, exchange standard abbrevietion & @ @ @
“TLPG” in column of “order code” ) - o
9% | &
S S
] @ &
@ & S
R #5 M | IEURRE | BTN
Clamp size | mm 0D.| inch LD. | Inch O.D. TIEREAS RS MR JERS
Order code Order code Order code Order code
6 TLPG6-006 TLPGY-006 TLPG10-006 TLPG12-006
64 V4 TLPG6-006.4 TLPGY-006.4 TLPG10-006.4 TLPG12-006.4
0 8 5/16 TLPG6-008 TLPGY-008 TLPGL0-008 TLPG12-008
95 3/8 TLPG6-009.5 TLPGY-009.5 TLPG10-009.5 TLPG12-009.5
10 GL/8 TLPG6-010 TLPGS-010 TLPG10-010 TLPG12-010
12 TLPG6-012 TLPGS-012 TLPG10-012 TLPG12-012
6 TLPG6-106 TLPGI-106 TLPG10-106 TLPG12-106
6.4 V4 TLPG6-106.4 TLPGO-106.4 TLPGL0-106.4 TLPG12-106.4
1 8 5/16 TLPG6-108 TLPGY-108 TLPG10-108 TLPG12-108
9.5 3/8 TLPG6-109.5 TLPG9-109.5 TLPG10-109.5 TLPG12-109.5
10 GL/8 TLPG6-110 TLPGY-110 TLPG10-110 TLPG12-110
12 TLPG6-112 TLPG9-112 TLPG10-112 TLPG12-112
12.7 12 TLPG6-212.7 TLPG9-212.7 TLPG10-212.7 TLPG12-212.7
135 G1/4 TLPG6-213.5 TLPGY-213.5 TLPG10-213.5 TLPGL2-213.5
14 TLPG6-214 TLPG9-214 TLPG10-214 TLPG12-214
2 15 TLPG6-215 TLPGY-215 TLPG10-215 TLPG12-215
16 5/8 TLPG6-216 TLPGY-216 TLPG10-216 TLPG12-216
172 G3/8 TLPG6-217.2 TLPG9-217.2 TLPG10-217.2 TLPG12-217.2
18 TLPG6-218 TLPGS-218 TLPG10-218 TLPG12-218
19 3/4 TLPG6-319 TLPGY-319 TLPG10-319 TLPG12-319
20 TLPG6-320 TLPG9-320 TLPG10-320 TLPG12-320
5 213 G1/2 TLPG6-321.3 TLPGY-321.3 TLPG10-321.3 TLPG12-3213
2 TLPG6-322 TLPG9-322 TLPG10-322 TLPG12-322
23 TLPGE-323 TLPGY-323 TLPG10-323 TLPG12-323
25 1 TLPG6-325 TLPG9-325 TLPG10-325 TLPG12-325
269 G/ TLPGG-426.9 TLPG9-426.9 TLPG10-426.9 TLPG12-426.9
4 28 TLPG6-428 TLPG9-428 TLPGL0-428 TLPG12-428
30 TLPG6-430 TLPG9-430 TLPG10-430 TLPG12-430
32 174 TLPGG6-532 TLPG9-532 TLPG10-532 TLPG12-532
33.7 [ TLPG6-533.7 TLPGY-533.7 TLPG10-533.7 TLPG12-533.7
5 35 TLPG6-535 TLPGY-535 TLPG10-535 TLPG12-535
38 11/2 TLPG6-538 TLPG9-538 TLPGLD-538 TLPG12-538
40 TLPG6-540 TLPG9-540 TLPG10-540 TLPG12-540
4 GLi/a TLPG6-542 TLPGY-542 TLPG10-542 TLPG12-542
445 13/4 TLPG6-644.5 TLPGP-644.5 TLPG10-644.5 TLPG12-644.5
45 TLPG6-645 TLPGY-645 TLPG10-645 TLPG12-645
48 61142 TLPG6-648 TLPG9-648 TLPG10-648 TLPG12-648
6 50 TLPG6-650 TLPG9-650 TLPG10-650 TLPG12-650
50.8 2 TLPGH-650.8 TLPGS-650.8 TLPG10-650.8 TLPG12-650.8
52 TLPG6-652 TLPG9-652 TLPG10-652 TLPG12-652
55 TLPG6-655 TLPGY-655 TLPGL0-655 TLPG12-655
57 2 TLPG6-657 TLPGY-657 TLPG10-657 TLPG12-657

MRS AT, BT EEETESIS different combinations are required, they could be ordered as components.




]

(AN

JIANGSU JOY METAL PRODUCTS CO.,LTD.

SEEE bR DIN3015 Teill)

1654 S Order code
TLPG— 4= RUBEHRI S St A 3 [IHEAY
Light series, polypropylene,
inside grooved
TLPS— 4 HUMERIE S A5y
Light series, polypropyiene,
inside_smooth
TR RE PSSR
Light series, polyamide 6,
inside grooved
TINS— FRIE R E kAL IB
Light series, polyamide 6,
inside smooth
W}Eg?, HEE TIERS”
#4879 "TLPG” “Bﬁj‘)

(As required, exchange standard

TLNG— %

CPETHE

B3 HTHE R SR ]
NI EFH AR
NS —EF A%

2 clamp halves, slot head
screws and washers

B EIRE TR
EFHTEERSAENNSS
—ERERE

2 clamp halves, socket
head screws and washers

BN BRI
WAIE CERIEANS
—E R

2 clamp halves, cover
plate and hex head bolts

i
=
N

EHFRENREI,

MR CREAR DY

SR —EBRER

2 clamp halves, stacking
bolts and locking plate

t IOl

abbreviation “TLPG” in column of
“order code” )
R &Y HhE IR | BYINE
Clamp size | mm 0Q.D. Inch 1.D. | Inch 0Q.D. 1JHAS RS RS PESan=;
Order code Order code Order code Order code
6 TLPG13-006 TLPG14-006 TLPG16-006 TLPG18-006
6.4 va TLPG13-006.4 TLPG14-006.4 TLPG16-006.4 TLPG18-006.4
0 8 5/16 TLPG13-008 TLPG14-008 TLPG16-008 TLPG18-008
9.5 3/8 TLPG13-009.5 TLPG14-009.5 TLPG16-009.5 TLPG18-009.5
10 G1/8 TLPG13-010 TLPG14-010 TLPG16-010 TLPG18-010
12 TLPG13-012 TLPG14-012 TLPG16-012 TLPG18-012
6 TLPG13-106 TLPG14-106 TLPG16-106 TLPG18-106
6.4 Va4 TLPG13-106.4 TLPG14-106.4 TLPG16-106.4 TLPG18-106.4
1 8 5/16 TLPG13-108 TLPG14-108 TLPG16-108 TLPG18-108
9.5 1/8 TLPG13-109.5 TLPG14-109.5 TLPG16-109.5 TLPG18-109.5
10 G1/8 TLPG13-110 TLPG14-110 TLPG16-110 TLPG18-110
12 TLPG13-112 TLPG14-1172 TLPG16-112 TLPG18-112
12.7 ) TLPG13-212.7 TLPG14-212.7 TLPG16-212.7 TLPG18-212.7
13.5 G1/4 TLPG13-213.5 TLPG14-213.5 TLPG16-213.5 TLPG18-213.5
14 TLPG13-214 TLPG14-214 TLPG16-214 TLPG18-214
pl 15 TLPG13-215 TLPG14-215 TLPG16-215 TLPG18-215
16 5/8 TLPG13-216 TLPG14-216 TLPG16-216 TLPG18-216
17.2 G3/8 TLPG13-217.2 TLPG14-217.2 TLPG16-217.2 TLPG18-217.2
18 TLPG13-218 TLPG14-218 TLPG16-218 TLPG18-218
19 V4 TLPG13-319 TLPG14-319 TLPG16-319 TLPG18-319
20 TLPG13-320 TLPG14-320 TLPG16-320 TLPG18-320
3 213 Gy TLPG13-321.3 TLPG14-321.3 TLPG16-3213 TLPG18-321.3
22 TLPG13-322 TLPG14-322 TLPG16-322 TLPG18-322
23 TLPG13-323 TLPG14-323 TLPG16-323 TLPG18-323
25 1 TLPG13-325 TLPG14-325 TLPG16-325 TLPG18-325
26.9 GYa TLPG13-426.9 TLPG14-426.9 TLPG16-426.9 TLPG18-426.9
4 28 TLPG13-428 TLPG14-428 TLPG16-428 TLPG18-428
30 TLPG13-430 TLPG14-430 TLPG16-430 TLPG18-430
32 1Y TLPG13-532 TLPG14-532 TLPG16-532 TLPG18-532
33.7 Gl TLPG13-533.7 TLPG14-533.7 TLPG16-533.7 TLPG18-533.7
5 35 TLPG13-535 TLPG14-535 TLPG16-535 TLPG18-535
38 1Y2 TLPG13-538 TLPG14-538 TLPG16-538 TLPG18-538
40 TLPG13-540 TLPG14-540 TLPG16-540 TLPG18-540
47 G1Ya TLPG13-542 TLPG14-542 TLPG16-542 TLPG18-542
44,5 134 TLPG13-644.5 TLPG14-644.5 TLPGL6-644.5 TLPG18-644.5
45 TLPG13-645 TLPG14-645 TLPG16-645 TLPG18-645
a8 GlY2 TLPG13-648 TLPG14-648 TLPG16-648 TLPG18-648
6 50 TLPG13-650 TLPG14-650 TLPG16-650 TLPG18-650
50.8 2 TLPG13-650.8 TLPG14-650.8 TLPG16-650.8 TLPG18-650.8
52 TLPG13-652 TLPG14-652 TLPG16-652 TLPG18-652
55 e TLPG13-655 TLPG14-655 TLPG16-655 TLPG18-655
57 TLPG13-657 TLPG14-657 TLPG16-657 TLPG18-657

WREBRACNRTL, BT

55 If different combinations are required, they would be ordered as components.




JIANGSU JOY METAL PRODUCTS CO.,LTD.

Gy

(A GRS & R ENRE DIN3015 Teill)

1JEES Order code
TLPG— VBRI S 3 VI HY
Light series, polypropylene

<&

inside grooved Ri% - o
TIPs— R RVWRE NI IS — e
Light series, polypropylene N a ASK . _@ o o o4 23
inside smaooth i |
TING— B RUR B8 P31 [t HY SIZE O R ;
Light series, polyamide 6, -~ @5 - -
inside grooved @// P
TINS— FE BB S e &9 _~
!.ltjr‘tt series, polyamide 6, \@// | d ] g ‘;T-
inside smoath . 1 I é T
(RIBESKR, BEm TS E" hiiRERS \\ El- @) - 4 @ 4 ol
L SIZEL6 ) - SIE 1-6 =
“TLP6" EA) St s Wi il
(As required, exchange standard abbrevietion 5/ - - f _‘
“TLPG”™ in column of “order code” ) SIZE1-6
TLPG HUE T IR ERAR 1% B DUIRAE SR ER AR
R &% g WEINE | BIIMNT 2 clamp halves TLPG Welding plate short Weld / screw plate
Clamp size | mm 0.D. | Inch LD. | Inch 0.D. IR e R Size IERE | RY sief]| {Jire T Size
@ Order code b c d e Order code’|{ d @ & |Ordercode|d e f n &
6 TLPG-006
6.4 1/4 TLPG-006.4
8 5/16 TLPG-008
c ; TL-BO - 53
0 95 3/8 TLPG-009.5 28 2 135 [ TL- A 30 3 58 44 6
10 G1/8 TLPG-010
12 TLPG-012
6 TLPG-106
6.4 4 TLPG-106.4
§ 5/16 TLPG-108 TL-AlL TL-BL |20 6450 65 3
1| 05 38 TLPG-109.5 g2/ @ 135 20 36 3
10 G1/8 TLPG-110
12 TLPG-112
127 1/2 TLPG-212.7
13.5 Gl/4 TLPG-213.5
14 TLPG-214
2 15 TLPG-215 40 33 26 165 TL-A2 26 42 3 TL-B2 |26 70 56 6.5 3
16 8 TLPG-216
17.2 G3/8 TLPG-217.2
18 TLPG-218
19 ¥4 TLPG-319
20 TLPG-320
213 Gl/2 TLPG-321.3
TL- A3 TL-B3 (33 7864 65 3
3 2 TLPG-32? 48 35 33 175 33 50 3
23 TLPG-323
25 1 TLPG-325
26.9 G3/4 TLPG-426.9
] 28 TLPG-428 57 42 40 21 TL - A4 40 59 3 TL-B4 |40 87 73 65 3
30 TLPG-430
32 11/4 TLPG-532
33.7 Gl TLPG-533.7
35 TLPG-535
y - y TL-B 52 100 86 6.5 3
5 38 11/ TLPG-538 70 58 52 29 TL-AS |52 72 3 5
40 TLPG-540
42 Gl/4 TLPG-542
44.5 13/4 TLPG-644.5
45 TLPG-645
48 GLi/2 TLPG-648
50 TLPG-650
TL-A6 - 66 116100 65 3
6 50.8 2 TLPG-650.8 85 66 66 33 66 88 3| TL-B6
52 TLPG-652
55 . TLPG-655
57 ik TLPG-657




Gy

JIANGSU JOY METAL PRODUCTS CO.,LTD.

PR SEEERHE DIN301S5 Teill)

i (?*>
P ) = /,4 f
.@\-'{_5{‘/ -
-
. J | "
| | o
‘ 6 (]
| o TR
i N L
XR!%J{‘I’%’}EFEEM{ ZERIFERAR ZRGY), SR
R E Twin weding plate Multiple weld plate Mounting rail Rail nut
Camp size | yjpepee | Ry se | yJmRs | RUse | jJwrs | RY s | Nghrs | R See
Order code | 4 5 ¢ g | Ordercode | 4 3 & Order code b Order code a b c
0 TL-CO 30 61 3 TL-DD - 30 298
(10EX)
1 TL-C1 20 35 69 3 TL-D1 20 35 349
(10EX)
TL-EL 1
(1#)
2 TL-€2 26 43 86 3 TL-D2 26 43 427
0 f5)
3 TL-C3 33 52 104 3 TL-D3 33 52 516 TL-E2 14 TL-F 254 104 12
(L0HX) (1K)
4 TL-C4 40 60 117 3 TL-D4 a0 60 297
(5Hx)
TL-E3 30
(1K)
5 TL-CS 52 75 145 3 TL-DS 52 75 370
(SHX)
6 TL-C6 66 90 176 3 TL-D6 66 90 446
(5 §X)




JIANGSU JOY METAL PRODUCTS CO.,LTD.

(AR EfEEFRE DIN3015 Teill)

<,

—
B

0 |

~

5
Z IR FHEE SKRET A7 EIRET PAY=EDd BN HAE AR
R &5 Cover plate Slot head Socket head Hexagon head Stacking bolt Locking plate
Ciamp‘size T A s screw screw bolt — T T
1J !;ﬂtt; R olze (GB65-85) (GB70-85) (GB5782-86) 1J55 1t“_’i N iz€ RS
Order code | b d & dxI dxI dxI Ordercode | a b Order code
0 TL-GO 3 M6 x 20 M6 x 20 M6 x 30 TL-HO 20 34
1 TL-G1 34 20 3 M6 x 20 Mé x 20 M6 x 30 TL-H1 20 34
7 TL-G2 40 26 3 M6 x 25 M6 x 25 M6 x 35 TL-HZ 25739
3 -3 48 33 3 M6 > 30 M6 x 30 M6 x 40 TL-H3 30 44 L
4 TL-G4 57 40 3 M6 x 35 M6 x 35 M6 x 45 TL-H4 35 49
5 TL-G5 /0 52 3 Mé x 50 M6 x 50 M6 x 60 TL-H5 50 64
6 TL-G6 86 66 3 M6 x 60 M6 x 60 M6 x 70 TL-H6 60 74




	D52275041D419401CFACE211B57825D9_750_750
	1-8
	1
	3
	4
	5
	6
	7
	8




